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QUESTION 1

Given the code fragment:

3. public static woid main(2tring[] args) |
4, Tt AxeEr = B0

i i float fwar = 100.100f;
G. doubkle dVar = 123;

7 ivar = ftvar;

B. fvar = iVar;

o dvar = fvVar;
10. fWar = dVar;
2 [ dvar = iVar;
12. ivaer = d¥ar;
13, }

Which three lines fail to compile?
A.Line 7

B. Line 8

C. Line 9

D. Line 10

E. Line 11

F. Line 12

Correct Answer: BCE

QUESTION 2

Given:
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package pl:;

publiz class Acc |
int
private int q;
protected int r;
public int =:

Test. java;

package p:
import pl.Acc;
publiz clazs Test extends Acc |
public static wvoild main(Stringl[] args) |
Acc ob] = new Lest(];

What is the result?

A.11,21,31,11,21,31
B. 11, 21, 31, 12, 22, 32
C.12,22,32,12,22,32
D. 10, 20, 30, 10, 20, 30

Correct Answer: D

QUESTION 3

int n[l1[] = ({1, 3}, {2, 4)};
for (int 1 = n.length - 1; 1 >= 0; 1—) {
for (int j = n[i]l.length - 1; j >= 0:
System.out.print(n[i] [j]):

==} {

Given the following segment of code:
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Mainjava B8 v jova version "1.8.@_31"
Java(T) SE Runtime Enviromment (build 1.8.0_31-b13)

2 Java HotSpot(TM) 64-Bit Server W (build 25.31-b@7, mixed mode)
) class C { : s Sl :

Z i > javac -classpath .:/run_dir/junit-4.12.jar:/run_dir/hamcrest-c
= public C() { . ore-1.3.jar:/run_dir/json-simple-1.1.1.jar -d . Main. java

4 System.out.print("C "); Main.java:13: error: class A is public, should be declared in a
5 } file named A.java

6 } public class A extends B{

7 A

8 class B extends C{ 1 error

9 public B() { compiler exit status 1.
10 System.out,.print("8 ");
11 }
12 }

13  public class A extends B{
14

15 public A(){

16 System.out.print("A ");

17 }

18 public static void main(Stringl[] args) {
19 Aa=new Al);

20 }

21 }

Which two statements, if either were true, would make the code compile? (Choose two.)
A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.

C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.

E. Cycle and MotorCycle both implement the Transportation interface.

F. MotorCycle is a superclass of Cycle.

Correct Answer: BC

QUESTION 4

You are asked to develop a program for a shopping application, and you are given the following information:

The application must contain the classes Toy, EduToy, and consToy. The Toy class is the superclass of the other two
classes. The int caicuiatePrice (Toy t) method calculates the price of a toy. The void printToy (Toy t) method prints the

details of a toy.

Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?
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String type = "A’;
retum type;
1
1

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: A

QUESTION 5

Given the code fragments: What is the result?

A. Super Sub Sub
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B. Contract Contract Super
C. Compilation fails at line n1
D. Compilation fails at line n2

Correct Answer: D
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